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(1) Please read the instructions carefully.

General Instructions :

(it) This question paper consists of 24 questions in two sections : Section A
& Section B.

(it1) Section-A has Objective Type Questions whereas Section B contains
Subjective type questions.

(iv) Out of the given (6 + 18 =) 24 questions, a candidate has to answer
(6 + 11 =) 17 questions in the allotted (maximum) time of 3 hours.

(v) All questions of a particular section must be attempted in the correct
order.

(vi) SECTION A - OBJECTIVE TYPE QUESTIONS (30 MARKS) :
(a) This Section has 06 questions.
(b) There is no negative marking.
(c) Do as per the instructions given.
(d) Marks allotted are mentioned against each question/part.
SECTION B - SUBJECTIVE TYPE QUESTIONS (30 MARKS) :
(a) This Section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.

(d) Marks allotted are mentioned against each question/part.

SECTION - A
(Objective Type Questions)

1. Answer any 4 out of the given 06 questions on Employability Skills. 4x1=4

(1) Self-management is also called as ? 1
(a) Self-motivation (b) Self-confidence
(¢) Self-control (d) Self-awareness

(11) Which of these 1s NOT a component of a spreadsheet ? 1
(a) Row (b) Mouse
(¢) Cell (d) Column
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(iii) TEre BN T H T H &l HEerd ¢ | 1
(a) 9B (b) S
(c) el (d) T

(iv) T 18 $H uh Sesie H1 THRaE g ? 1
(a) TIShETR TR (b) TS SfieH
(c) Torst 3riftha heeh (d) TETS FAEHEHA

(v) Ueh YT ST I T o Ted IO H 2 | 1
(a) Wr-31 (b) Tee fafhes st
() =FIE™ (d) I

(vi) 3TH W I 91 SAferded faehR e Sufl’ T 371 g 7 1
(a) WA (b) 3rEmM™IRER
(c) 3@ (d) YRER (Avoidant)

2.  Tewwg 7 e O @ ol 5 o S G | 5x1=5

(i) WA H Tgelt Hier o fben forg o fefte 58 7 1
(a) 1913 (b) 1923
(© 1919 d 1929

(i) IMEARFME ? 1
(a) 3 TAIehicd (b) SIS TR
(c) 3T TS (d) 3femm TR

(iil) HuTCh I8 % foodia I8 el & 1
(a) f&ios (b) foemm s
(0) 3AMT-Tg U (d) T I

(iv) ToTeraT TR TR I | dread B 1
(a) IIS (b) siTsslle
(c) =AIE (d) dbEhTd
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(111) The ability to do something even when it is difficult ? 1
(a) Initiative (b) Attitude
(c) Perseverance (d) Organization

(1v) Which of the following is NOT a type of a spreadsheet ? 1
(a) Microsoft Excel (b) Google Sheets
(¢) Libre Office Calc (d) Google Classroom

(v) A company that is in the first stage of its operation is 1
(a) Start Up (b) Pvt. Ltd. Company
(¢) Business (d) Office

(vi) Which of these personality disorder comes under ‘suspicious’

category ? 1
(a) Paranoid (b) Anti-social
(¢) Dependent (d) Avoidant
2. Answer any 5 out of the given 7 questions. 5x1=5

(1) In which year did the first feature length movie released in India ? 1
(a) 1913 (b) 1923
(c) 1919 (d) 1929

(11) WhatisIP ? 1
(a) Internet Protocol (b) Independent Protocol
(¢) Internet Provider (d) Indian Protocol

(111) Page opposite to the editorial page is 1
(a) City page (b) Business page
(¢) Op-Ed page (d) Sports page

(1v) Quality & serious pressis ? 1
(a) Supplement (b) Broadsheet
(¢) Tabloid (d) Periodicals
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(v) FTH YD Tk dfh GHER ToE § 7

(a) Hitas (b) I
(¢ faed (d) W
(vi) GHR g arey ¥ forar S g 7
(a) Toufog (b) 3o s
(c) Hardl d) FrRewTER
(vii) Torem =1 vgam
(a) 2338 (b) w=d
© afig GV CEREES
few 7 9t o @ fonegl 6 T & ST AR :
(i) A1 HEF (3T Toreht 3cutg o w9, Yehfrr 3ife w1 afitg et g 2
(a) Testmsfm e (b) INTSE
(c) UehfomT e (d) Tsfean daE
(i) Fr=fafea T3 wH Fad w g TEE R 7
(a) efifers (b) T
(c) e (d) THER A
(iii) Weh TT 3cUTE <hT forgmoe TR 8
(a) 3AThHSH (Aggressive) () iR (Passive)

() wfasfie (Progressive) (d) THIHI (Suppressive)
(iv) ATsnT Teh Wi & | oo & s&ent Sqam forg &9 1 fepan ST 8 7

(a) T (b) 3HE FHRH
(c) TedAlhH! (d) dfa (POP)
(v) YT @ oh foTa et T Afafera = shaetrar &
(a) SAfaieR @= (b) 3TTeRfETRal
(c) M A HTEH (d) S &=
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(v)  Which of these is a global news agency ? 1
(a) PTI (b) UNI
(¢) Reuters (d) Bhasha

(vi) News 1s written in which format ? 1
(a) Pyramid (b) Inverted Pyramid
(¢) Conversational (d) Official

(vii) Identify the odd one 1
(a) TOI () HT
(¢c) The Hindu (d) Mumbai Mirror

Answer any 6 out of the given 7 questions. 6x1=6

(1) Which section defines the looks, packaging etc. for a product ? 1
(a) Designing section b) R&D
(¢) Packaging section (d) Idea section

(11) Which of the following is only an aural medium ? 1
(a) Television (b) Internet
(¢) Radio (d) Newspapers

(111) Ad campaign of a new product is . 1
(a) Aggressive (b) Passive
(¢) Progressive (d) Suppressive

(1v) Lobbying is a strategy used in which form of advertisements ? 1
(a) Covert (b) Cross Promotion
(¢) Advocacy (d) POP

(v) An extra allowance added for unexpected expenses is ? 1
(a) Above the line (b) Contingency
(c) Below the line (d) Annual

—3— T =3 P.T.O.



(vi) Torw T =61 THIR O 1 T 37T HHTSIIAT 8 7 1
(a) daforfSaes (b) HueHE
(¢) IHEf @) faam

(vii) 9l e 1 HS AT H FHIE HLdT & 1
(a) WSS (b) Tees @
OREESIE (d) wesS

4. feuTw 6 w4 9 fhegl 5 931 o I T : 5x1=5

() U ST TEAIAT bl T8l BHT =Y ? 1
(a) H3X (b) e
(OBREEIH (d) wTferd S e (Engaging)

(i) fora (KISS) ®ifet o1 Haiy forg mem & g 2 1
(a) feSH (b) e
(c) T (d) HAER-TA

(iii) ¥ o ToTT ARRIH WISH i el 1T & 1
(a) SEW (b) T (Recce)
(c) e e d) wE

(iv) TorE UTEd o ToTU 9167 T o THTGH Sl SRR & ? 1
(@) =St (b) TR Feifed
(c) e (d) <fHIM

(v) HHENR-UF %1 SH a1 o A & fef T fia gar g v 1
(a) HUTCH (b) =foTSeh
(¢) Il @) faam

(vi) Tore gt foh 21 |t 1 AT SAlhas oh! qUidT & ? 1
(a) I T (b) aTeet ferad
(c) T e Fieea (d) e dgufee
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(vi) Which department is regarded as the creative organ of a newspaper ?

(a) Commercial (b) Editorial

(¢) Admin (d) Distribution
(vi1) capsules the entire story in a few words.

(a) Byline (b) Date line

(c) Headline (d) Masthead
Answer any 5 out of the given 6 questions. 5x1=5
(1) A radio presenter should not be

(a) Rigid (b) Flexible

(¢) Humorous (d) Engaging

(11) KISS formula is associated with which medium ?
(a) Television (b) Radio
(¢) Internet (d) Newspaper

(111) Location hunting for shooting is referred as
(a) Dry Run (b) Recce
(¢) Call sheet (d) Rushes

(1v) This format requires skilled tape editing.
(a) Newsreels (b) News Bulletins
(¢) Plays (d) Talk shows

(v) This newspaper department is involved in space selling.
(a) Editorial (b) Commercial
(¢) Admin (d) Distribution

(vi) Who said that the challenge of 21st century is the completion of
democracy ?

(a) Amartya Sen (b) Walter Lipmann
(¢) Lionel Fieldon (d) Majid Tehranian
3= 9 -2 P.T.O.
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feu T 6 we=T § | feregi 5 U IR | 5x1=5

@) JNEATST T 37 foam 1 giafvaa s o fof TR w3 & s &l
HE AT - 1
(a) FARSRE (b) wWrErE
() it 3fie d gEH

(i) GHEIR T fhawed & 7 1
(a) pHRES T (b) DI e & HEF o= i
(c) wicfigs (d) oo 3AifthE W el wear 3

(i) 3TH W I JTfE (Convergence)amﬂ'[m%? 1
(@) s (b) efifers
(c) WHMER T (d) s

(iv) Then fmior < gug gyt 1 98 ST & T R fepan SiTan 2 fop 3eh
e IRl 2l | 1
(a) TEH (b) it e
ONECECl @

(v) e ate 1 s smerqul Whiert saaegr 1 Iid wiar & 7 1
(a) SRRE A (b) wligfag
(c) T (d) ferrren

(vi) Ueh SITS UTEhl ohl SI-T0C <l & TS0 TR 3IHehT < BT BIAT & 39 YhR o1 fomia=
FIHEA & 7 1
(a) fafirg (b) 9T (POP)
(c) T (d) 33T (OOH)

feu T 6 T | foReg 5 WAl o I AT 5x1=5

() SR H feu e fasmem & o JHaH BT § 7 1
(a) TNHE (b) U Ho (Preservation value)
(c) IS IcH ATSH &l (d) Tagofgan
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5. Answer any 5 out of the given 6 questions. 5x1=5

1) 1s prepared to give actors an idea of their blocking ? 1
(a) Clapper board (b) Story board
(¢) Call sheet (d) Dry runs

(11) What is Parallel Cinema ? 1
(a) Commercial Cinema (b) Small budget serious cinema
(¢) Bollywood (d) Depends on Box Office

(111) Which of these is a medium of convergence ? 1
(a) Radio (b) Television
(c) Newspapers (d) Internet

@1v) is prepared for everyone on the production of a film to know
when they are required. 1
(a) Dryrun (b) Call sheet
(¢) Schedule (d) Rushes

(v) This advertising induces impulsive buying behavior ? 1
(a) Direct mail (b) Point of purchase
(¢) Covert (d) Specialty

(vi) A brand gives T-shirts to customers with its logo printed on it.

Identify the type of advertisement. 1
(a) Speciality (b) POP
(¢) Covert (d) OOH
6. Answer any 5 out of the given 6 questions. bx1=5
(1) What is the disadvantage of newspaper advertising ? 1
(a) Low cost (b) Preservation value
(¢) No shelf life (d) Credibility

359 —3— 11 - P.T.O.
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(i) 3HC o HeH hi foamufig SiH sHar 8 ? 1
(a) @UTEH (b) fesmsm
() w&® (d) HeheuTRat
(i) FTH Y HI 91 o fesmem aigean g ? 1
(a) TduHTA (b) SHTETH
(¢ gmdR (d) died
(iv) Trefafaa @ a w9 fosmom @ gt @ 2 1
(a) Juadl (b) IR
() TIATEHN (d) A
(v) TARSH it o agd fepd fosmiua feran ST g ? 1
(a) TIIIA B (b) @I
(€ HH (d) wEEa
(vi) Ueh guiTiva we Stgt weft fbeni o fmfor & sl w1 wrenferd feman Sran & 2 1
(@) (b) wfen
(c) W3 d) T
g g -§
(Rt YR s 99)
TSR ShINTeT T AT feu MU 5 99 § & fohedi 8 & I 20-30 T2 T < | 3x2=6
fort) =arfera o =aferaca o 4T o< Rk (T wTgdl Thered) AT E 2 2
TSI & i AT ThR fARaT | 2
fepeft 3ert <1 IfKd S aTeT Q1 I % IR H FaTT | 2
e 8 et < F U § 2 2
3ATcH A1g SAfedcd faeh” (Narcissistic Personality Disorder) 1 IHATST | 2
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(11) Who creates something by thinking with reference to internet ? 1
(a) Editor (b) Designer
(¢) Writer (d) Conceptualizers
(111) Which of these is web designing software ? 1
(a) HTML (b) GIF
(c) Dream weaver (d) PHP
(1v) Which of the following is associated with advertisements ? 1
(a) USP (b) URL
(cp AIR (d) XML
(v) This is advertised under entertainment category. 1
(a) Mutual funds (b) Soap
(¢) Concert (d) Mobile
(vi) A well-defined organization where all film making operations are
conducted is 1
(a) Set (b) Studio
(¢) Setup (d) Location
SECTION - B
(Subjective Type Questions)
Answer any 3 out of the given 5 questions on Employability Skills.
Answer each question in 20-30 words. 3x2=6
What are the ‘Big Five Factors of an individual’s personality ? 2
Mention the three popular types of a spreadsheet. 2
Explain any two qualities that motivate an Entrepreneur. 2
What are the ways to deal with Stress ? 2
Explain Narcissistic Personality Disorder. 2
—~3— 13 -2~ P.T.O.



few a5 w9 § © forgf 8 & ST 20-30 weei # ST | 3x2=6
12. ‘HE IMec ! AT I | 2
13. IRR TSI B E ? 2
14. ‘GE-ET G ? 2
15. efifasH digaeH o ua € (LD) 1 YfiehT W JhT ST | 2
16. fordi a1 uftrg wreliw wrfiaentd o A fafgT | 2

few T 3 i § 4 fordl 2 9l % 3T 30-50 wreal # €S | 2x3=6
17. TIfE TeUfE % STTER, HH § 3 WS §AR 379 T 1 Tt srard & 2 3
18. Tfew 3TN SRATHS daus =T & ? 3
19. e W gt fert & M@ At | 3

few e 5 w3t 7 & fordt 3 % 3T 50-80 a1 AT | 3x4=12
20. SR TS (Market Segmentation) 1 8 ? 35k WSl o 3CTEL o T THHATST | 4

21. Tefvrea 7o v 3 1 fefSeat arfremm (convergence)ﬁﬁﬁﬂ?ﬁ%ﬁ%ﬁﬁﬂﬁ%%

I ST HIT | 4
22. Teh AR BT BE o o foTu ueh forgmm afirere fesme =t | 4
23. HEATTA 3R GEATcHeh TIRIHT o ofF o 7T T i | 4

24. O Hifed Ut ¥ el feh eIl B AT 7 | §eLAE hi JUTRATT o HRUT TGN
Aieat H yiafaa g¢ gfauH o ar § fofe | 4
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Answer any 3 out of the given 5 questions in 20-30 words each. 3x2=6
12. Explain the term — Communication. 2
13. Who is a wire editor ? 2
14. What is a ‘By-Line’ ? 2
15. Highlight the role of a LD in a television production. 2
16. Name any two famous Indian Music Composers. 2

Answer any 2 out of the given 3 questions in 30-50 words each. 2x3=6
17. According to Majid Tehranian, which 3 megatrends characterize our own

era ? 3
18. What are Static & Dynamic webpages ? 3
19. Explain Movie Trailers on Radio. 3

Answer any 3 out of the given 5 questions in 50-80 words each. 3x4=12

20. What 1s Market Segmentation ? Elaborate with examples the various
segments. 4

21. ‘Digital i1s new platform.” Explain the statement with respect to

Advertising trends in digital convergence. 4
22. Design an advertising campaign for an Indian fast food chain. 4
23. Differentiate between Institutional & Informational advertisements. 4

24. ‘Mass Media have become more important than ever before.” Write about
the changed paradigm in the model of mass communication due to the
presence of Internet. 4
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